
이름: 　　　　　　　 날짜: 　　　　　　 점수: 　　　

지수의산술 ( 음의지수 )

(−3) − (−7) =2 (−6) + (−9) =0

(−5) − 10 =(−2) 2 − (−10) =0

10 + (−5) =2 (−6) − (−7) =(−2)

(−6) − (−2) =(−2) (−5) − 8 =(−2)

(−6) − (−8) =2 6 − (−8) =(−2)

(−8) − 7 =2 (−1) − (−5) =(−2)

4 − 5 =(−1) (−8) − (−9) =2

7 − 9 =(−2) (−6) − (−9) =(−1)

9 − (−3) =(−1) 10 + 2 =(−2)

8 − 1 =2 9 + (−4) =2
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이름: 　　　　　　　 날짜: 　　　　　　 점수: 　　　

지수의산술 ( 음의지수 )

(−3) − (−7) = 162 (−6) + (−9) = (−8)0

(−5) − 10 = (− ) = (−9 )(−2)

25
249

25
24

2 − (−10) = 110

10 + (−5) = 952 (−6) − (−7) = = 7(−2)

36
253

36
1

(−6) − (−2) = = 2(−2)

36
73

36
1

(−5) − 8 = (− ) = (−7 )(−2)

25
199

25
24

(−6) − (−8) = 442 6 − (−8) = = 8(−2)

36
289

36
1

(−8) − 7 = 572 (−1) − (−5) = 6(−2)

4 − 5 = (− ) = (−4 )(−1)

4
19

4
3

(−8) − (−9) = 732

7 − 9 = (− ) = (−8 )(−2)

49
440

49
48

(−6) − (−9) = = 8(−1)

6
53

6
5

9 − (−3) = = 3(−1)

9
28

9
1

10 + 2 = = 2(−2)

100
201

100
1

8 − 1 = 632 9 + (−4) = 772
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